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Question 1

a)

Question 2

e)

Question 3

b)

Problem 1

1)

	SHORT RUN

	Q
	 Total Cost
	Fixed Cost
	Variable Cost
	Marginal Cost
	Total Average Cost
	Fixed Average Cost
	Variable Average Cost

	0
	$3,500 
	$3,500 
	$0 
	$0 
	-.-
	-.-
	-.-

	1
	$5,000 
	$3,500 
	$1,500 
	$1,500 
	$5,000 
	$3,500 
	$1,500 

	2
	$5,650 
	$3,500 
	$2,150 
	$650 
	$2,825 
	$1,750 
	$1,075 

	3
	$6,050 
	$3,500 
	$2,550 
	$400 
	$2,017 
	$1,167 
	$850 

	4
	$6,250 
	$3,500 
	$2,750 
	$200 
	$1,563 
	$875 
	$688 

	5
	$6,800 
	$3,500 
	$3,300 
	$550 
	$1,360 
	$700 
	$660 

	6
	$8,050 
	$3,500 
	$4,550 
	$1,250 
	$1,342 
	$583 
	$758 

	7
	$11,150 
	$3,500 
	$7,650 
	$3,100 
	$1,593 
	$500 
	$1,093 

	8
	$17,500 
	$3,500 
	$14,000 
	$6,350 
	$2,188 
	$438 
	$1,750 

	9
	$27,500 
	$3,500 
	$24,000 
	$10,000 
	$3,056 
	$389 
	$2,667 


	LONG RUN

	Q
	Total Cost
	Fixed Cost
	Variable Cost
	Marginal Cost
	Total Average Cost
	Fixed Average Cost
	Variable Average Cost

	0
	$0 
	$0 
	$0 
	$0 
	-.-
	-.-
	-.-

	1
	$1,550 
	$0 
	$1,550 
	$1,550 
	$1,550 
	$0 
	$1,550 

	2
	$2,900 
	$0 
	$2,900 
	$1,350 
	$1,450 
	$0 
	$1,450 

	3
	$4,170 
	$0 
	$4,170 
	$1,270 
	$1,390 
	$0 
	$1,390 

	4
	$5,440 
	$0 
	$5,440 
	$1,270 
	$1,360 
	$0 
	$1,360 

	5
	$6,750 
	$0 
	$6,750 
	$1,310 
	$1,350 
	$0 
	$1,350 

	6
	$8,050 
	$0 
	$8,050 
	$1,300 
	$1,342 
	$0 
	$1,342 

	7
	$9,449 
	$0 
	$9,449 
	$1,399 
	$1,350 
	$0 
	$1,350 

	8
	$10,880 
	$0 
	$10,880 
	$1,431 
	$1,360 
	$0 
	$1,360 

	9
	$12,510 
	$0 
	$12,510 
	$1,630 
	$1,390 
	$0 
	$1,390 


2) In the long run there are no fixed costs, all inputs are variable. Therefore, Table B represents the long run. 

3) At 6 units. See that at this point long run total average cost and short run average cost are equal. 

Problem 2

1)

	Q
	Units of Capital
	Number of workers
	Fixed Cost
	Variable Cost
	 Total Cost
	Mg. Product of Labor

	0
	100
	0
	$10,000
	0
	$10,000
	0.0000

	1
	100
	10
	$10,000
	$1,000
	$11,000
	0.1000

	2
	100
	18
	$10,000
	$1,800
	$11,800
	0.1250

	3
	100
	22
	$10,000
	$2,200
	$12,200
	0.2500

	4
	100
	28
	$10,000
	$2,800
	$12,800
	0.1667

	5
	100
	38
	$10,000
	$3,800
	$13,800
	0.1000

	6
	100
	54
	$10,000
	$5,400
	$15,400
	0.0625


2) For the first units there are increasing marginal returns to labor. 

After the fourth unit, the marginal product of labor is decreasing. 

Explanation:

The second and the third worker may allow production to become more specialized.

